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I ’a mwn: range of circumstances which, in spite of their apparent deficiencies, generate liability for nwnm nyaxr

a

5o ™ 0 Q0

—-

if the theft and n7an/nN’2v was done in the presence of 2 01y - even if they are different
i suggestion: this is contra "1 who interprets v. 1 as requiring 1y to testify about an entire matter
1 explanation:in this case, 1 set of witnesses testified to the theft, another to the sale/slaughter
ii  rejection: " agrees that if the components of testimony aren’t mutually dependent, there is no deficiency of 127 '3n
1 example: if 2 Dy testified to NWYM1 113 'V1Pp and another 2 to the nX»3, since the nXk»a alone would generate
culpability, he agrees that the testimony stands
2 application: in our case, without N2> »1v, N2V »Y aren’t meaningful, however, n2>13 »1y alone generate 593
iii note: N3, who disagree with ™ (allowing 3 sets of 01y, each testifying about 1 year of nptn, to validate ‘3 npm
DY), apply 127 to one set of witnesses testifying to 1 hair (of my1 711°0) on the front and another set testifying to 1
hair on the back - each one’s testimony keeps her a nop (e.g. no validity to her pwirp)
if he stole and sold on naw (no n"a%p)
i challenge: we have a Xn»11 which reads that in this case he is exempt
1 answerl (891 72 ’»7): in that case, the buyer told the 213 to cut figs from his tree as the purchase price
(a) Explanation: since the 113 becomes nr'n 2»n at the moment of n717an, he is exempt as per n”a%
(b) Challenge: if the buyer sued the thief for the purcase, he couldn’t recover (since he’s nn>n 2n) - the sale
should be invalid (= no nwnm nyaIx)
2 Answer2 (899 "): buyer tells thief to throw the na>1 into his property (nxx1n)
(a) Challenge; this only works according to ™, ("mnnw '3 nvop > liabilities are concurrent)
(b) However: according to 1127, liability for theft occurs before naw avn (when it lands)
(c) Rather: buyer states that he doesn’t want to take possession until it lands
3 Answer 1 (827reviving it): still liable for n17an, even though, had he sued for it, he couldn’t collect
(a) Proof: 1R is prohibited, even if the nx’a generated nnon avn
(i) Even though: if she sued him, couldn’t collect (n”2%p), if he paid her, still called an janx
(ii) Similarly: even though the buyer couldn’t sue for the N1, since the 233 did give it to him, it's a 0720
and generates liability for 4/5
(if he stole and sold to 1y
if he stole and slaughtered on 3”0y (n13 doesn’t generate n”a%p — contra Mpn 12 1M ")
if he stole his father’s and then he slaughtered or sold and then father died
if he stole and slaughtered or sold and then was w»pn
if he stole and slaughtered to feed to dogs or for medical use
if he stole and slaughtered and it proved to be a na™v (v"1 exempts)
if he stole and slaughtered naya 5N (9™ exempts) )
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